Good afternoon: please do warm up in notebooks
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And now for something completely different




Summation Notation summ-ary <
Write as a sum using sigma notation.
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Write as a sum using sigma notation:

5+10+15+20+25+30

5(1+2+3+4+5+6)
.
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Sls= 22

(=1
5(1)+5(2)+5(3)+5(4)+5(5)+5(6)



Write as a sum using sigma notation:

5+10+15+20+25+30+ ... + 9n
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Write as a sum using sigma notation:

o+ 10+ Mo+ 20+ 25+ 30 + ...
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Indefinite Integration VS Definite Integration
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Derivatives: rates of change and the tangent line problem

4

S [,‘u. 4 /\

Y

]

Definite integrals: summation and the area problem
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How t0 find the are

a under a curve’ Pl )
Find a method to approximate the area encla?e‘d byy= x2 +1. L]r'« vertical lines
10- x=1 and x-3., and the x-axis. —
| (This is called ‘the area under the curve’) 10
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Riemann definition of Definite Integral: if fis a continuous function on [a,b] and this interval is equally divided
into n intervals of width Ax = 222, and if x; = a + iAx is the right endpoint of subinterval 1, then:
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